& LT DEF X

1 AOp§x
AOESSYRLEE
HAF1604E(19854F) 254 (20134F)
. ] e N
B ﬁ ket we | B kit
—- [ ms ]
| 60 | 0~ |
| 50 s~
I 45 ~ & | 15-:
| 35 ~ 3 | 5~
| 30~ 3 | 0~3
25 ~ 2 l 25 ~ 2 NN
| ot ot ‘“m«-«“ q
I o~ “::‘g :NNNNNNN*‘.
| 0~4 0~ N
ACEE CER254 108 1 BRE) B A
_ B B | &I SRABAODHR
PNEE:T 50,537 | _ 25656 | 24.881
658 LLEAD 11,764 5204 | _ 6.560 o
(BRLE %) 233 20.3 26.4
[26.1] [2
HEH 19,232 [;'126]:124] . % =
—EEAR 263 [255] ﬁl
[ RE=ER I
R BOREHIHET = EREBIADBESR) 40 gllgll!\\ § 1
AOBIE CER2SE) REES B A © § § § §
i BE_| =i N NN NN
E3 448 221 227 §I§ § § \
A 480 262 218 NN
HEEADFH) s.sg '[127.94]] ? §I§I§ § \
ECEADTF) 9.5 10.77 NN NN
[ IRE=ER o NI § § )
R4 EBEEE S ERAODEBESE) . . . . I
3R B A DD oA . o o ow o
T RR12%E | LRI T2 | TR 222 | E AR 255 & é,\“' Q,\“ Q:i‘ 5{?
= (20004F) | (20054F) | (20104E) | (20134F) £ &Y & & X
0~14 7.912 7044 | 7311 7,460 :
15~64 30413 | 30,609 | 32.400 | 30,958 | OO~14R DIS~GR OfRALE |
65_&»1% 7,803 8,940 | 10,957 | 11,764
RE RESHHE SEREBIACBESE)
2 FFREDKNT
ACIBIAE (T 25 %) BRI _ B A
. HER ARECB (BB) ey | BEM | ER | EEE
_ ERER EZ3 ey | am | #x
& 448 32 1 1 10 2 280 90
[E] [8.9] [7.1] [2.2] [2.2] [21.8] [4.5] [5.5] [1.8]
=ER 14514 1,291 44 15 319 50 | 8844| 3281
[EE] [7.9] [8.9] [3.0] [1.0] [21.5] [4.1] [4.8] [1.8]

HERAOFH) . BEFER(HEEHN) . FLREC-FHER (HETF)
FEREE (HETX) . BEMET (HAET) .| 15E- 8% AOFx)




=1 4 RE BESYBIALS—E—TLHRATF—RN IV RT L)

YR~ | ER2i~]| SHBERHEEDED LRECROHER
114 254
&1L 1.41 1.45 R ——— W
= 1.45 1.47 I ]
[RRCEEETH) s
L 387 271 plindlin
E_isi 4.17 m 1.50 145 1.40 1.35 oRWH .00 2.00 4.00 6.00
o=ER
ABHERHERDKER ARECEDHER
2.00 50
44
1.50 = 1.48 . -
51T 1.39 30 o° -
1.00 24 20 |_O== 25 / b
0.50 === § 1L 1.0
0.00 . . L . I 1=ER 0.0 L 'VGS L
H21 H22 H23 H24 H25 ¥ H21 H22 H23 H24 H25 &
S x
HER-ERERHERDHR ~we-=ER | FAEHMECEOHER
(HEF>)
140 120
120 95 100 3 9.9
100 : 80 4./\ 8.7
80 ../
6.0
6.0
40 40 = == = b
20 20
00 “:\\'\ L 00 L L L 1
H21 H22 H23 H24 H25 F ;l; H21 H22 H23 H24 H25 £
3 FELDKRE
FERFRIETE AO105 %t 40B~6ARICHITHEFBIEBRETE
< T L ERE ) e
1648 814 i [ =iE
BALH LY [169.6] [82.6] 97 2501 18
D = =B 40 39.1 = 204.2 270.8 139.3
[69.9] [37.5] B RESDB Y —C— TN BRR2T — IR TV AT A
- 49.1 28.3 FRR21~254ER 5
akiatin (448 [260]
ek Ll pal o ks
72 31 31 B =
& B [8.1] [2.9] KL 25 32 13
T 9.7 39 AD105% 17.8 25.0 10.4
[6.5] [3.4] = 1} 1,853 1,344 509
T [3.5 T ADIOEwm 20.1 209) 107
55 Eﬁg NNV —E—TNBR2NT —F IR IV AT I
T e e e gz e SO e an-mic St

FR21~25F 25 (GFRmMEIIBMeFEETT VAR EZER)
[ JRE=ER

FHPMBRTE (FM21~255 R 1) (Bit) RLT O=ER (%)

Q E ﬁﬁ =3 AR RN,
»
m b & B N
BOEE NN
B
21 1 100 850 Q 100
A N
| F &% &
R\\\\\\\\\I\\\\\\\\\V‘ \\‘I\.\\\\\\\\\\\\\\:\\\\\\\\\\\\\\'l\\\\\\\\\\\\\\) \\\\\\\\\\\\\\\\\\\\“
T g ﬁ ﬁ ------------------- I NN |
K\\\\\\\\\\'l\ R R
------------- ® o E
10 8 6 4 2 0 0 2 4 6



FERRBERCROFERER

2000 /
150.0 MY
100.0
‘---*---*~~~ =
50.0 —KW‘K""A—
o.o 1 1 1 1
200 H21 H22 H23 H24 H25
150 150
100 100
50 50
0.0 1 L 1 1 0-0
H21 H22 H23 H24 H25
SMR(IR#{LET L)

—f—=H21~25

FF R4

=ZERDRAEA100




